
男子団体リーグ戦
１コート

勝 負 順位
長崎東Ａ 3 - 0 3 - 0 2 0 1
海星Ｃ 0 - 3 3 - 0 1 1 2
青雲Ｂ 0 - 3 0 - 3 0 2 3

２コート
勝 負 順位

長崎工Ａ 3 - 0 3 - 0 2 0 1
海星Ｅ 0 - 3 2 - 1 1 1 2
長崎南Ｂ 0 - 3 1 - 2 0 2 3

３コート
勝 負 順位

海星Ａ 3 - 0 3 - 0 2 0 1
長崎工Ｂ 3 - 0 1 - 2 1 1 2
鶴洋Ｃ 0 - 3 0 - 3 0 2 4
合同Ｃ 0 - 3 2 - 1 1 1 3

４コート
勝 負 順位

鶴洋Ａ 1 - 2 3 - 0 1 1 2
長崎東Ｂ 2 - 1 3 - 0 2 0 1
北陽台Ｃ 0 - 3 0 - 3 0 2 3

５コート
勝 負 順位

長崎西Ａ 2 - 1 2 - 1 2 0 1
北陽台Ｂ 2 - 1 2 - 1 2 0 2
鶴洋Ｂ 1 - 2 1 - 2 0 2 4
海星Ｄ 1 - 2 1 - 2 0 2 3

６コート
勝 負 順位

青雲Ａ 2 - 1 3 - 0 2 0 1
長崎北Ａ 1 - 2 3 - 0 1 1 2
合同Ａ 0 - 3 0 - 3 0 2 3

７コート
勝 負 順位

長崎南Ａ 0 - 3 2 - 1 1 1 3
総附Ａ 3 - 0 0 - 3 1 1 2
海星Ｂ - 3 - 0 3 - 0 2 0 1
長崎東Ｃ 1 - 2 0 - 3 0 2 4

長崎南Ａ 総附Ａ 海星Ｂ 長崎東Ｃ

長崎西Ａ 北陽台Ｂ 鶴洋Ｂ 海星Ｄ

鶴洋Ａ 長崎東Ｂ 北陽台Ｃ

合同Ｃ

長崎南Ｂ

海星Ａ 長崎工Ｂ 鶴洋Ｃ

青雲Ａ 長崎北Ａ 合同Ａ

長崎東Ａ 海星Ｃ 青雲Ｂ

長崎工Ａ 海星Ｅ



男子団体トーナメント
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優勝
海星A

1 海星Ａ

2 海星Ｆ

3 海星Ｇ

4 長崎東Ａ

5 北陽台Ｂ

6 青雲Ａ

7 長崎北Ａ

8 長崎工Ａ

9 海星Ｃ

10 海星Ｂ

11 海星Ｅ

12 北陽台Ａ

13 長崎工Ｂ

14 長崎東Ｂ

17 総附Ａ

15 鶴洋Ａ

16 長崎西Ａ



１回戦
① 海星Ｆ 3 - 0 海星Ｇ
池山 山崎
森下 鶴柴

Ｓ１ 塚原 6 - 1 宮崎
Ｓ２ 管田 6 - 3 浦川
２回戦
② 長崎東Ａ 3 - 0 北陽台Ｂ ③ 青雲Ａ 2 - 1 長崎北Ａ
荒木 野口 永友 坂本
相川 峯脇 古瀬 松井

Ｓ１ 荒木大 6 - 3 中村 Ｓ１ 後田 1 - 6 品田
Ｓ２ 鈴木 6 - 1 吉岡 Ｓ２ 井 7 - 5 遠藤

④ 長崎工Ａ 2 - 1 海星Ｃ ⑤ 海星Ｂ 3 - 0 海星Ｅ
猿渡 小坂 平野 石橋
田村 田辺 森川 永尾

Ｓ１ 中山 1 - 6 松浦 Ｓ１ 橋本 6 - 1 石橋
Ｓ２ 松永 6 - 3 大田 Ｓ２ 野間 6 - 1 川島

⑥ 海星Ａ 3 - 0 海星Ｆ ⑦ 北陽台Ａ 2 - 1 長崎工Ｂ
北園 池山 吉田 大石
森 菅田 夏井 小川

Ｓ１ 井口 6 - 0 森下 Ｓ１ 松尾 6 - 0 荒木
Ｓ２ 大串 6 - 1 塚原 Ｓ２ 永田 5 - 7 沖迫

⑧ 長崎東Ｂ 1 - 2 鶴洋Ａ ⑨ 長崎西Ａ 3 - 0 総附Ａ
江村 高比良 佐名 吉田
川井田 濵田 山田 三岳

Ｓ１ 森光 6 - 1 園川 Ｓ１ 田島 6 - 1 岩松
Ｓ２ 桑田 1 - 6 近藤 Ｓ２ 尊田 6 - 0 木村
準々決勝
⑩ 海星Ａ 2 - 1 長崎東Ａ ⑪ 青雲Ａ 2 - 1 長崎工Ａ
森 相川 古瀬 猿渡
北園 荒木 永友 田村

Ｓ１ 井口 6 - 1 鈴木 Ｓ１ 後田 6 - 2 中山
Ｓ２ 大串 6 - 4 荒木 Ｓ２ 井 2 - 6 松永

⑫ 海星Ｂ 3 - 0 北陽台Ａ ⑬ 鶴洋Ａ 1 - 2 長崎西Ａ
平野 吉田 高比良 山田
森川 夏井 濵田 山村

Ｓ１ 橋本 6 - 2 松尾 Ｓ１ 近藤 1 - 6 田島
Ｓ２ 野間 7 - 5 永田 Ｓ２ 園川 6 - 2 尊田
準決勝
⑭ 海星Ａ 2 - 1 青雲Ａ ⑮ 海星Ｂ 1 - 2 長崎西Ａ
大串 古瀬 平野 山田
北園 永友 森川 山村

Ｓ１ 井口 6 - 1 後田 Ｓ１ 野間 2 - 6 田島
Ｓ２ 森 3 - 6 井 Ｓ２ 橋本 6 - 4 尊田
決勝 ３決
⑯ 海星Ａ 2 - 1 長崎西Ａ ⑯ 海星Ｂ 3 - 0 青雲Ａ
森 山田 橋本 後田
大串 山村 野間 井

Ｓ１ 井口 6 - 3 田島 Ｓ１ 森川 7 - 6 永友
Ｓ２ 北園 0 - 6 尊田 Ｓ２ 平野 6 - 1 古瀬

Ｄ１ 7 - 6

Ｄ１ 6 - 1

Ｄ１ 6 - 4

Ｄ１ 6 - 0

Ｄ１ 7 - 6

Ｄ１ 6 - 0

Ｄ１ 6 - 1

Ｄ１ 6 - 2

Ｄ１ 5 - 7

Ｄ１ 3 - 6

Ｄ１ 6 - 2

Ｄ１ 2 - 6

Ｄ１ 6 - 1

Ｄ１ 5 - 7

Ｄ１ 6 - 4

Ｄ１ 6 - 0

Ｄ１ 6 - 1



女子団体Ａパート

長崎西 東＋女子商 北陽台Ｂ 海星 順位

長崎西 ２－１ ３－０ ３－０ 1

東＋女子商 １－２ ３－０ １－２ 3

北陽台Ｂ ０－３ ０－３ ０－３ 4

海星 ０－３ ２－１ ３－０ 2

女子団体Ｂパート

長崎東Ａ 北陽台Ａ 北＋工業 順位

長崎東Ａ ３－０ ３－０ 1

北陽台Ａ ０－３ ３－０ 2

北＋工業 ０－３ ０－３ 3

決勝戦

0
3

３位決定戦

3
0

５位決定戦

3
0

海星

女子商＋東

海星

北陽台A

長崎東
長崎西

女子商＋東

北＋工業

長崎東



Aパート
長崎西 2 - 1 海星 女子商＋東 3 - 0 北陽台Ｂ

渡辺 和泉 岡本 永田
山口 松尾 岩松 松本

Ｓ１ 山口里 6 - 1 永田 Ｓ１ 椎山 6 - 1 竹山
Ｓ２ 後藤 6 - 0 有田 Ｓ２ 浦 6 - 2 野村

長崎西 3 - 0 北陽台Ｂ 女子商＋東 1 - 2 海星
渡辺 永田 岡本 有田
山口仁 松本 岩松 永田

Ｓ１ 山口 6 - 0 竹山 Ｓ１ 椎山 4 - 6 片岡
Ｓ２ 後藤 6 - 0 野村 Ｓ２ 浦 0 - 6 和泉

長崎西 2 - 1 女子商＋東 北陽台Ｂ 0 - 3 海星
山口 岡本 永田 永田
渡辺 岩松 松本 片岡

Ｓ１ 山口 6 - 1 椎山 Ｓ１ 竹山 1 - 6 和泉
Ｓ２ 後藤 6 - 0 浦 Ｓ２ 野村 0 - 6 松尾
Bパート

長崎東Ａ 3 - 0 北＋工業 長崎東Ａ 3 - 0 北陽台Ａ
井ノ上 岩下 柴山 後藤
田中 平山 佐藤 松永

Ｓ１ 柴山 6 - 0 高木 Ｓ１ 田中 6 - 2 中山
Ｓ２ 佐藤 6 - 2 坂本 Ｓ２ 井ノ上 6 - 1 廣瀬

北＋工業 0 - 3 北陽台Ａ
高木 後藤
坂本 松永

Ｓ１ 平山 4 - 6 中山
Ｓ２ 岩下 2 - 6 廣瀬
決勝 ３決

長崎西 0 - 3 長崎東Ａ 海星 3 - 0 北陽台Ａ
後藤 井ノ上 永田 後藤
山口仁 佐藤 松尾 松永

Ｓ１ 山口 1 - 6 柴山 Ｓ１ 片岡 6 - 2 中山
Ｓ２ 渡辺 0 - 6 田中 Ｓ２ 和泉 6 - 1 廣瀬
5決

女子商＋東 3 - 0 北＋工業
椎山 高木
岩松 坂本

Ｓ１ 岡本 6 - 2 岩下
Ｓ２ 浦 6 - 4 平山

Ｄ１ 6 - 2

Ｄ１ 3 - 6

Ｄ１ 6 - 3

Ｄ１ 6 - 1

Ｄ１ 1 - 6

Ｄ１ 6 - 3

Ｄ１ 6 - 0

Ｄ１ 2 - 6

Ｄ１ 1 - 6

Ｄ１ 1 - 6

Ｄ１ 6 - 4

Ｄ１ 6 - 4


